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1. EREBTRA
DE£ERA 7,980,000 8,071,500 A 91,500
SESBEIA 3,000,000 3,007,500 A 7,500] @6,000- X 50144
ERSESEIRA 4,980,000 5,064,000 A 84,000 @12,000- X 4224
Q@AEEINA 700,000 980,000/ A 280,000| @50,000- x 194 . @30,000- x 144
Q@A FE A EINA 9,590,000] 9,576,500 13,500
EHFERFIRA 9,090,000 9,076,500 13,500 @18,000- x 5044
EBRTNA (BEEETEE) 500,000 500,000 0| @250,000- x 2[A]
@FFEIA 60,000 338,050 A 278,050
BURE AT EEIRA 60,000 123,550 A 63,550
PHEXEFHTLEUIRA 0 214500 A 214500| FEMERE FKMERNHEHE
GO#ILA 10,300 926 9,374
= HUF| B A 300 326 A 26
HULA 10,000 600 9,400
FEHFHBRAR  (A) 18,340,300| 18,966,976] A 626,676




El B FHE REEH = B i
2. WRERZENHXH
DEXEEREREE 9,610,140 7,206,564 2,403,576
BB ERH 450,000 169,620 280,380
EHEHAR-HERE 700,000 202,182 497,818
BEEREE 1,300,000 986,340 313,660
BREREAE 55,000 112,954 A 57,954
ENRI & 600,000 594,592 5408| &84 %. O —EREHE
WiH-LYVE 300,000 193,480 106,520
TEEIITE 200,000 200,000 0
ITEHEHEE 100,000 88,440 11,560| R—LR—RSFE Fith
HaHERE 100,000 0 100,000
MRRE 240,000 240,000 0
LEELE 50,000 0 50,000
BREEE 400,000 384,160 15,840
KESEE 350,000 369,781 A 19,781
EiRE 50,000 0 50,000
FEFRNER 300,000 212,100 87,900
EBRE 100,000 0 100,000
SXERUE 600,000 531,553 68,447| 2 EREZHBIEE
~BWHE=E 1,400,000 1,160,690 239,310| KE~F 1 FESAMEEM
EHMERE 500,000 421,980 78,020 | WebBHES 1E . HHM% BWebtSF—20H
TEEHBHEAE 0 214500 A 214500| E:EHERE x5 E 74
XEE 30,000 0 30,000
TIF 350,000 310,662 39,338| BT EHT. RBEIEF Ik
FEREE 100,000 90,150 9,850
HFHitE 20,000 0 20,000
L S 200,000 198,440 1,560
RAME N & 85,140 85,140 0| £5tVokHz7
FIRIER 80,000 78,752 1,248
HE 950,000 361,048 588,952 |#: 1% F1333,0201th
QEXETERE 2,250,000 1,223,943 1,026,057
BERS 850,000 443,150 406,850
HEXE 450,000 297,814 152,186
BITH=E 150,000 85,000 65,000
ZDhNEE 800,000 397,979 402,021
QEXEBEAGE 9,720,000 7,619,921 2,100,079
WHRUVETFY 8,300,000 6,575,394 1,724,606
EERHE 1,380,000 1,015,339 364,661
EHELE 40,000 29,188 10,812| fEFEZ W24 5
EREEREDZHHD+@+®=(B)| 21,580,140| 16,050,428 5,529,712
EREHNZEH(A)-(B)=(C) A 3,239,840 2,916,548 A 6,156,388
Il R FEINZOR
1.8 R EFTNA 0 0 0
HBRRES| LEFEEIEIA 0 0 0
2 12 EENSH
DS EEEMSF X H 250,050 250,044 6
REBAHELS 250,000 250,000 0
HREEEE® 50 44 6| ZImA A
@zt EEEERSEIH 0 0 0
a3 EREA 0 0 0
IRWETSZH B 250,050 250,044 6
BRRENEZEM (D) A 250,050 A 250,044 A6
N BE TNz DER 0 0 0
V3l 5 =2 HH (E) 1,000,000 0 1,000,000
HMWPMEZEB|C)+(D)-(E)=(F) | A 4,489,890 2,666,504 A 7,156,394
AU AR B S A (G) 34,221,727] 34,221,727 0
| RIGEBERSER 2 (F)1(G) 29.731,837| 36,888,231] A 7,156,394




